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WORKSHEET 7
Q.1.     P = 60 – 2Q  ,    C(Q)= Q2 + 20.   For this information,

a. What are the profit-maximizing price and quantity for monopolist?

b. What is the consumer surplus for monopolist?

c. What is the producer surplus for monopolist?

d. What is the deadweight loss?  
Q.2. A monopolist has a demand curve given by P= 4000-40Q and TC given by TC=10Q2+5000. Find the monopolist’s profit-maximizing quantity and price. How much economic profit will be monopolist earn?
Q.3. A monopolist has a demand curve given by P= 450-50Q and TC given by TC=25Q2+100. Find the monopolist’s profit-maximizing quantity and price. How much economic profit will be monopolist earn?                           

Q.4.A monopolist’s price is $10. At this price the absolute value of the elasticity of demand is 2. What is the monopolist’s marginal cost?
Q.5. Suppose you own a firm that produ ces widgets and is a monopoly. The market demand is given by the equation P = 50 - 2Q. The marginal cost for the firm is 6Q. What is the single price monopoly output and price?
Q.6. A firm facing the demand curve P = 10 - Q has zero marginal costs, fixed costs of 12, and is a single price monopolist. What quantity would it produce and what would its profit (loss) situation then be?
Q.7. A single price monopolist has a demand curve: P = 500 - 50Q. It has the total cost curve: TC = 1000 + 100Q. If the firm is a profit maximizer or loss minimizer, what output and price should it plan for?
Q.8. Say a monopolist sells in two separate markets, with demand PA = 100 - 2Q and PB = 50 - Q respectively. Marginal costs in both markets are constant and equal to 8. The monopolist would charge a price of _______ in market A  in order to maximize profits.
Q.9. Bob's Books is the only bookstore in town. The figure below shows the demand curve for books

and Bob's Books' marginal revenue curve and marginal cost curve. Bob's Books maximizes its

profit and sets the price of a book equal to ________ and has total annual revenue of ________.
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Q.10. 
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a. If the monopolist depicted in Figure 1 is maximizing profits, the correct price/output combination will be:

b. If the monopolist depicted in Figure 1 is maximizing profits, the actual profit earned will be:

c. Remembering that the firm depicted in Figure 1 is a profit maximizing monopolist, in long run equilibrium price and output will be:

d. Suppose the monopolist depicted in Figure 1 is able to practice 1st degree (perfect) price discrimination if it could do this successfully the total number of units sold and the price of the last unit sold will be:
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